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o Ilm o 46 1t
Ans2 = .3=[330 = p j .8:((-2760) =-— 3 j

o) (2] )
|

Ans3 =[.I =[Quadrant = 04],.2 = [Cot(e) ==

11
Ans4={] =[ Quadrant=02], .2 =|:COS(9) =—@H, , [_)}

w7

4] [
-

o«

51| |2

Ans8=[Cos(9)—Cot(6)=— 30 (
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Ans5=[Sin(9) —Tan(6)=—

Ans6:[2 Cot(0) =—

Ans7=[0=0], {
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[ T o 347 o ]
A=]—=90 b= —-———=(-2040)
2 3
2= ——225 J=|———=2745
4 4
S5m o 91 = o
Ansl =|.3 = —T—(-300) S=|- p =(-2730)
Tr o
.4:( ?—( -210) j .9=(5=286.479")
21 =
.5=( 5 —1890] 10=(-4.5=(-257.831)°)
- o 3w o 2771 ) |
.]:(270 :—) .6:((—1215) :——j
2 4
, 4m o 17 =
.2=(240 =—j ,7:((-510) S j
3 6
o 11x o 44 1
Ans2 = .3:((-330) :—TJ .8:((-2640) =— 3 j

o) o2 m)

. 720 )
5=(1800°=10 1) .10:[(——) :-4.000j
T

Ans3 :{] =[Quadrant=Q2], .2 = [Tan(e):_%ﬂj {

|

Ansd = [.1 = [ Quadrant = 03], .2 = [Csc(8) = —/2 1], {

Ans5 = {Tan(e) —Csc(0) :%l ’ {ﬂ}
Ans6:[Csc(6)+Cot(6):_—6} [L}
Ans7 = {Cc)s(e)+0sc(e)— 345 } {L}
2] [

Ans8={Cot(9) —Cos(0)=— p
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TrigonometryExercise3

i 21 ¢ |
1= (m=180°) .6=(—T=(-945)°]
2= (2_71_ 120°j 7—( BT _ s j
3 (-120) =" =(-570)
117 e
Ansl =| 3= ( _(-330)°j .8=( . =2460°j
37
4= ( T_(-135)°j 9=(1=57.296")
:( 52 —2250"] 10=(-2.5=(-143.239))
d=|270°= —| (-2220)° = -
B3 3
T AN
:((-45)":—1) :((-2130)":——6 ]
5 41 1
s .3=((-150)°=—?j .8=[1845°= ; j

Ans3 :[.] =[ Quadrant = Q4], .2 = (CSC(G) =—

Answers for No.12890

&3

o OT
.4=(300 :—j
3

5=((-720)° = -4 1) .10:{(—

T
2

= 1.500}

o)

= [

Ans4 =[.1 =[Quadrant = 03], .2=[Csc(0) = ~\/7]] ’ {L()}

Ans5 ={Sin(6) + Cot(0) =

140 !
Ans6:[Cos(8)+Csc(6)= 57791113 }, ,[C}

Ans8=[Tan(9) + Cot(0) =~

X [Page 0019]

Ans7:[Sin(9) — Sec(e):T

61@

o

)

|

2] |
o5

10

Vo

o

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:0:9.0:0:9.0:9:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:¢

v

i)

o«

|



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXME/1-6300103-00020XX
TrigonometryExercise3 Answers for No.12891

I 37 . 321 )]
.1:(7=270 j .6=(—T=(-1920) ]

(571 Oj [63n OJ
2=|—=150 7=|—""=2835
6 4
( 4n j (1371 j
Ansl =|.3=|-—"=(-240) S=|—""=390
3 6
I o o
.42(—72(-135)j .9=(4=229.183")
27 m
.5=( 2 =2430°] 10=(-4.5=(-257.831)°)
1=(180°=m) .6:((—2760)0: —j
o 17 =
2:((-300)O —Tj 7:((—510)0—— p ]
o Tn o 49 1t
Ans2 = .3=((-315) :_Tj .8=((-2205) =— 1 j
1

Ans4:{] :[Quadmnt:Q3],.2={SCC(9):—%} ) [_()}
Ans5:[Sin(9)—Cos(9)=—1£33}, ,[_()}
Ans6=[Tan(6)+Cot(6)=— 81@}, ,{ﬁ}

260 (

Ans7=|:CSC(9)—TaH(e): 291f}, [_()}
Ans8=[Sec(6)+Sin(9)=— 129@}, a{ﬁ}

445 ‘(
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T o 237w o
A=|—=90 .6 = =1035
2 4
o8 o 651 o
2=|-—"=(-30) J=|—/=1950
6 6

Tr o 44 it o
Ansl =| 3= =315 S=|- =(-2640)

4 3
S5n o o
4= T=3ooj 9= (4=229.183%)

[\9)

2=|240°=

nso—| 3=]135°=

4=[210°=

il
3
3n
4
In
6

Ans4:[.1 =[ Quadrant=Q2], .2 :[Sin(ﬁ) =

17 A
Ans5:[Cos(9)+Csc(9):3—7J, ,{ﬂ}
20 |
Ans6 = { Sin(0) + Cos(0) :%}, , {L()}

Ans7 =[2 Cot(0) =-243 1, [—)}
2h] 4]

7 o

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXKXKKXKXXXKXKXKXKXKXKXKXKXKXKXXKXKX KKK KKK XXX XX KXKXKXKKXX

=
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47 1 |
1= (n=180°) .6=(—T:(-1410)°]
(711 0) [397: OJ
2=|—""=315 J=|—""=1755
4 4
( 4 ] (387: j
Ansl =|.3=|-—=(-240) 8=|——=2280
3 3
.4:(—%:(-30)°j 9= (7=401.070°)
117 o o
.5=( S =99 10 = (0.5 =28.648°)
i ( o 3m , 3w ]
1=270"=—— 6=|2220" =
2 3
( , 2m , 89m
2=1200=—"" 7=12670" =
3 6
. llm . 37
Ans? = .3:(330 =" J 8=11665"= P
( . 3ch ( 180j° j
A=[(-135°=——| 9=||—| =1.000
4 T
990 )’
5=(1440°=8 1) JO:HTJ =5500J
Ans3 :[.] = [ Quadrant = 04],.2 = (Cot(e) = —@]}, , [L()}
Ans4=[.]:[Quadrant=Q4],.2=[Sin(6):—@ﬂ, ,{—()}
AnsS :[Sec(e) —Tan(0) :@}, , {—()}
Anséz{Sec(B)—Cot(G):—291f}, ,[—()}
Ans7={2 Cot(0)=— 84105 }, ,[ﬁ}
105 A
Ans8=[Sin(9)+Cos(9)=—@}, ,[L()}
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I 37 . 117 O
V| :(—2270 j .6:(——:(-660) j
2 3
I1n o 6l o
.2=[ :330j .7=[—:1830J
6 6
4 o 41 n o
Ansl = .3:(—2240 j .82(— =(-1845) J
3 4
T
.4:(—22(-45)‘)) 9=(2=114.592°)
3ln o o
.5=(— =(—2790)] 10=(3.5=200.535")

2
i o T , 3lm
A={90"=— 6=]1860"=—
2 3
o 5n , 03w
2=](-225) =——— 7 =12835" =—
4 4

( 1230 417[}

(- ) = p
T 360 )

.4=((-210)°=——6 ] .9=&—7t J =2.oooj

5=((-1080)°=-67) .10= (( jz-ssoo]

) [
&

w
Il
VR
o
S
[e]
Il
w |3
N—
H

Ans2 =

Ans3 = [.1 =[ Quadrant = 04],.2 = [Tan(e) =

Ansd =[.1 = [ Quadrant = 02],.2 = [Csc(0) =4/371], ,

o

Anss {Cot(@) —Tan(0) = —} {_}
)l 7]
[]

i

Ans8 = [Tan(0) — Sec(8) =4/117, , "
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Ans6=[Sin(6) + Cot(0)=—

Ans7 =[Csc(0) + Cot(0) =-31,
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I 3n . 21 )]
A=|—"=270 .6:( =945j
2 4
Tr o 1
2= 7:315 T=|- —( -600)°
5n o 2 o
Ansl = 3=|—=150 8= —870
6 6
4r o o
4= 72240 .9=(4=229.183")
S5m o o
.5=(—7=(—450)J 10=(0.5=28.648")

- 41m
( J 6= (—1845)°=—T

A=
—( -225 5_j 2640)° = M
=225 == ] 7=( (2640)° ===
27 o 43
Ans2 = 120° ZT (-1290) =—- 6

A4=1210"=—" 9=||—1| =1.500
6 T

. (( 630}0
S=((-1080)° =-67) .10=||-—] =-3.500

T

N

=[5
| |

Ans3 =[.1 =[Quadrant = 04],.2=(Tan(0) = —4«/;)], ,[

«‘é\
| I

Ans4 =[.1 =[Quadrant = 03],.2=[Csc(0) = —«\/7 ,[

9f}, [f}

712 (
Ans6:[Csc(6)+Cot(6):_—3} [L

[

Ans5:[Cos(9) + Csc(0) =

Ans7 = [Sec(0) — Tan(8) =4/3 ],

“

o«
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1 =(n=180°)

6—( 23_7[— 690°j_
6=| -7 =(-690)

191 o
7= T: 1140

Ansl =| 3=|—-—""=(-150) 8=|—=1485
6 4
S5m
.4:£T:225°j 9=(3=171.887°)
21 ¢
.5=(— 5 =(—1890)°j 10=(-5.5=(-315.127)°)
_ 1—(90°—£j 6—( 510)° = nj
= = =] (-510)°=—
( o 3nj ( o 1 nj
2=|(-135)=—-—"— 7=1495" =
4 4
(6] 475 [0)
Ans2 = 3:(240 :Tj 8:((-1320) ———J
4=(-210)°"=——- 9={|— 1 =0.500
6 T
990
5=(1080°=6m) ]0:((7 :SSOOJ
Ans3 :[.] =[ Quadrant = Q2], .2 = (Cot(e) = —%)}, , [L()}

Ans4 =[.1 =[ Quadrant = Q2],.2 = [CSC(G)ZW/Z]], ,[

o) £

Ans5=[Tan(9)+ Sin(0) =

30 o
Anséz{Sin(e)—i—Cot(e):—95;!?} ,[C}
Ans7:{Sin(9) + Cos(0) =%}, ,{L()}
Ans8={Cos(6)+Tan(6)=—295%/5675}, ,[C}
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